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=Year 11            =Polynomial functions            =Worksheet 4
	1. The graph of cubic function
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	2. The graph of cubic function
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 has only one x-intercept 
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 and a y-intercept 
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 has a quadratic factor 
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. Find the relationship between a and b.
    

	3. Find the equation of the following quartic function.
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	4. A cubic function passes through 
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. Find the equation of the cubic function.

	5. Find the equation of the following quartic function, which has axis of symmetry
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	6. Sketch the graph of 
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	7. Refer to Q6. Sketch (i) 
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(ii) 
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	8. Refer to Q7. Find the exact x-intercepts in (i) and (ii).

	9. Given 
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. Find the polynomial functions 
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 in expanded form.

	10. Refer to Q9. State the transformations in succession required to change
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	11. Refer to 
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 in Q9. Show that the two functions do not intersect.

	Numerical, algebraic and worded answers.



1.  y = ((x(1)3 + 2


2.  4a > b2


3.  y = ½(x+3)(x(4)(x+1)2 


4.  y = x3 + 2x + 1


5.  y = (2(x+1)4 + 2


8.  (i) (3(2, 0, 3(2


     (ii) 0, 6


9.  g(x) = 8x3(24x2+24x(8


     h(x) = 8x3(12x2+6x(1


10. (i) Dilation from y-axis by ½


           Translation 1 unit right


     (ii) Translation 1 unit right


           Dilation from y-axis by ½
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